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5.) With the wind, you can fly 2160 miles in 3 hours. Against the same wind, you can only fly 1800 miles, but in 4 hours. Find
your plane’s average velocity in still wind and the average velocity of the wind.
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Answer: Price of 1 blueberry pie:
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7.) A company is planning to manufacture cheap affordabre CoTITPaser
$60,000 and it will cost $200 to produce each d

then you must explain (thoroughly) the

c.) Determine the break-even point. Write the point as an ordered pair,
meaning of the break-even point in the context of this situation.
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Break-Even Point (as an ordered pair):
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8.) A chemist needs to mix an alloy with a 34% silver nitrate content and an alloy with a 4%
100 ounces of a new alloy of 7% silver nitrate content. How many ounces of each of the original alloys (the 34

silver nitrate content to obtain
% one and
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Answer: Amount of the 34% alloy:
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10.) Solve this 3-variable system.

9.) Solve this 3-variable system.

-2¢x-y+z=1) —> ~ 21 12y ~ 22 i "1- G+2y—z=5) — -Ax—fy +22
%(3’5—3}"*'42:5) e ’qj 22z 0 {LZx—y+32=0 — 2~y + IR
Y

Gx-2y+3z=4) > |bx -8By +122 = F2yt zi=1
O+@:

-\
o

(i)

T9yitigR sl
V(5% + 3’3): 3 - -box+IYql2 L,__. -5Cy + 2 = V)

OD: '3(’8)(_ +‘(3) EiMi 240 ~\2y =
—IeX = O

~8(o) +"y = /A
o o

=D
200)-1 + 2 =I

= (cii)

[\l
|

—
o

'53 +52-
\03 -5 =

]
)
w




!5' II :4.2 —
Part II: 4.2 — Systems of Inequalities and Linear Programming K E v

Graph each system of
of inequalities. Be sure to have accurate line types (solid or dashed) as well as shading.
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6.) Foryour baseball card collection, %

5.) You have a bunch of dirty dress pants and shirts. You room for 144 cards, split between two Prands; el
have at most $70 to spend at the dry cleaners t:da;;u and Tops. You want to have at least 2 ti i

where pants cost $6 and shirts $3 ta.get cleanec. Fleer cards as Tops cards. f

need at least 5 shirts for the week. Also, at least 1an
at most 3 pairs of pants for the week as well.

Write the correct system of inequalities, usin
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Objective Function: z = 5x + 4y

a.) Graph the system of inequalities on the
graph to the right. > : j

b.) Find and list the coordinates of each vertex
of the feasible region:

List of vertices (written as 4 ordered pairs): 4
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8.) You are screen
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e oor:tore than $600 to s end. Finall at most 20 hours to make t-shirts and hoodies. You also
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Profit of §20 per hoodIeY H:v: profit of $6 per t-shirt. Hoodies take 30 min to make, cost you $20, and yield a
mMany of each should be made and sold to maximize profit? What is the maximum profit?
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b.) Write a system of linear inequalities that models this situation. .
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c.) Graph the inequalities, then label the vertices. (Use graph provided)

d.) What is the x and y values that maximize the profit, as well as the maximum profit? Answer should be in context as well
as a complete sentence.
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9.) A merchant plans to sell two models of home computers at%that Aot ‘
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Set your variables:
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a.) Write a system of linear inequalities that models this situation.

200% + 400y £ 70000
X +Y £ 250
X 2|00

b.) Graph the inequalities, then label the vertices. (Use graph provided)

c.) Whatisthe x and y values that maximize the profit, as well as the maximum profit? Answer should be in context as well
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11.) Two adjoining square fields with an area of 2900 square feet are to be enclosed with 240 feet of fencing. The situation
;E is represented in the figure. Find the length of each side where a variable appears. (There may be more than one
answer). 2 2
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